
Załącznik 2 
 
--------------------------------------------------- ----------------------------- 

Elementy trasy 
--------------------------------------------------- ----------------------------- 
 
 ELEMENT             OD         DO 
      
     Prosta      1513,53   1570,21       L=56,69m                                         
 Klotoida 1      1570,21   1590,21       R=80,00m       A=40,00m                          
                                         L=20,00m     t=0,1250rd                          
                                         Xs=9,99m      Ys=80,21m                          
                                         T=20,07m        Z=4,00m                          
                                         Tk=6,68m      Td=13,34m                          
                                          N=0,84m        U=6,62m                          
                                          V=0,10m        H=0,21m                          
 Łuk kołowy      1590,21   1618,46       R=80,00m       L=28,25m                           
 Klotoida 2      1618,46   1638,46       R=80,00m       A=40,00m                          
                                         L=20,00m     t=0,1250rd                          
                                         Xs=9,9 9m      Ys=80,21m                          
                                         T=20,07m        Z=4,00m                          
                                         Tk=6,68m      Td=13,34m                          
                                          N=0,84m        U=6,62m                          
                                          V=0,10m        H=0,21m                          
     Prosta      1638,46   1690,85       L=52,39m                                         
 Łuk kołowy      1690,85   1741,68     R=1000,00m       T=25,42m        B=0,32m           
                                         L=50,84m     g=0,0508rd      g=3,2364g           
     Prosta      1741,68   1827,68       L=86,00m                                         
 Łuk kołowy      1827,68   1861,99      R=800,00m       T=17,16m        B=0,18m           
                                         L=34,31m     g=0,0429rd      g=2,7303g           
     Prosta      1861,99   1877,82       L=15,82m                                         
 Klotoida 1      1877,82   1893,82      R=100,00m       A=40,00m                          
                                         L=16,00m     t=0,0800rd                          
                                         Xs=8,00m     Ys=100,11m                          
                                         T=16,02m        Z=0,74m                          
                                         Tk=5,34m      Td=10,67m                          
                                          N=0,43m        U=5,32m                          
                                          V=0,03m        H=0,11m                          
 Łuk kołowy      1893,82   1900,17      R=100,00m        L=6,36m                          
 Klotoida 2      190 0,17   1916,17      R=100,00m       A=40,00m                          
                                         L=16,00m     t=0,0800rd                          
                                         Xs=8,00m     Ys=100,11m                          
                                         T=16,02m        Z=0,74m                          
                                         Tk=5,34m      Td=10,67m                          
                                          N=0,43m        U=5,32m                          
                                          V=0,03m        H=0,11m                          
     Prosta      1916,17   2017,57      L=101,40m                                         
 Klotoida 1      2017,57   2035,07       R=70,00m       A=35 ,00m                          
                                         L=17,50m     t=0,1250rd                          
                                         Xs=8,75m      Ys=70,18m                          
                                         T=17,56m        Z=0,74m                          
                                         Tk=5,84m      Td=11,68m                          
                                          N=0,73m        U=5,80m                          
                                          V=0,09m        H=0,18m                          
 Łuk kołowy      2035,07   2035,18       R=70,00m        L=0,11m                          
 Klotoida 2      2035,18   2052,68       R=70,00m       A=35,00m                          
                                         L=17,50m     t=0,1250rd                          
                                         Xs=8,75m      Ys=70,18m                          
                                         T=17,56m        Z=0,74m                          
                                         Tk=5,84m      Td =11,68m                          
                                          N=0,73m        U=5,80m                          
                                          V=0,09m        H=0,18m                          
     Prosta      2052,68   2150,37       L=97,70m                                         
 Łuk kołowy      2150,37   2261,10      R=500,00m       T=55,59m        B=3,08m           
                                        L=110,73m     g=0,2215rd     g=14, 0986g           
     Prosta      2261,10   2528,30      L=267,20m                                         


